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1ATNA ~ NN NaT

'N "2 12TNA...."2'0 7N AYN NX T 12T DI'A Awnl AR DTN AN

"1 asks what is the reason that nnN’s children were called nwn nIT'2In ? "W answers, that we learn from
here that 1T I'7'X> 2aIMda 1"y A7un 2N AN |2 DX Ta'Mn 7. The question is, why does the naIn teach us this
TI0' by the NnX M2, didn’t 11127 nwn teach the NN to the entire 1XYW "1, so technically, all of 'xw* 715 are his
children? The naIn should call us all nun nIT72IN?

By the 7ayn Xvn, there was a n'1a of NN placed on the |[DAX M. In order to break this n1'ta from taking
place, nun went & taught n1IN to the NN 12, & now they are to be considered nwn 12 as we know |2 N ™'Mn
1T 1'7'R2 "IN 1Nfan & they won’t die! All went according to schedule, until XIn'axi 2T1 were D21 1192 1270 AN
and brought an nAT WX. With this act, they revealed that they truly were not 11'a1 nwn’s n*1'n'1n! If so, they are not
nwn’s children rather they are NnX M2 & they died instantly! However, Imn'X1 ATV stayed alive even though the
n'1a still loomed over them, because they were 12'a1 nwn’s children!

Now our 109 has a new meaning. DaX NIT7IN 27X, originally, they were "DnX"™s children; nwnl, now that
nwn taught them NN, they are considered nwn’s children. And if you’ll ask, if so why did X1n*ax1 2T die, wasn’t the
n1'Ta only on the DAX 13, the answer is in the next 7109! AT YN DAMENA T 197 1In'aNI 2T NN, as they then
went from being nun "2 to being [NNKX "2 and therefore they died. Therefore, the n1IN teaches us this |11y by the
INNN 12, as there, nwn put in an effort that it have an affect on them that it should be nT1'* 1'"X0.

'NX "2 72TN......"1'0 N2 DY DX T 2T DI awnl AR DTN AN

"1 asks, why does the 7109 say that we will now list the children of nwn, if only the children of NnX are listed?
"N answers, that since nwn taught them NN, they are called the children of nwn. The qunn of the 7109 is, that
nwn taught them what he heard from 'T, on the day that "T gave the n1In on 1'0 TN, & therefore they became his
children.

But nINDY7, we know that *"wn told us in the beginning of 1nN2, that everything, n'2ITpT 725 were said at '1'0
from "1, but we weren’t able to grasp it because of the ("> 'n D™aT) NXTH N7ITAN WK, This makes sense for the [mMn
of Ixw 773, but for XIn'ax1 2T, that the 7109 says on them D'7'7xn NX 1ITN', they were able to grasp everything that
was said on "2'0 including N'NIVSI N'PITRT 72 just like 1'20 Nwn himself, straight from "7, as by them we can’t say that
they were bothered by the n'2ITan wX. So why did they need nwn for?

The .n"7 o1 'Matells us, NN>NWN AN'D T'ANI 17 7'WiIn X721 D'WAN71 D'W7YW? nwn DY NINn NI AN n"apn
NINNI n"apn 17 namw TV mn! nun had the best *a0 in the world, who repeated the n1In to him again & again, but
he couldn’t retain it. Until T gave it to him as a present! That was nwn’s n'7un, that since he got it as a present, he was
able to retain it & was even able to give it over to others to retain! Yes XIn'axI 2T1 were able to grasp everything from
"Tat 0, but they kept forgetting everything. This was true until they studied by nwn! So the entire 78w 773, for sure
were children of nwn, as we see from the {7109 of N2 1IWY AWK W9IN NI, the "IN uses the 1W7 of 1wy which means
n'x'. However, | might think that XIinYax1 2T were not his children as they heard the nnin directly from "7, therefore
the NN tells us nWNI NNR NIT?2IN N7K, that even they are nwn’s children because of N'an |2 nx ™TMMn D
T2 17'X0...0NIN.

2"%71 y'warN Mt " gives also a second VWO, He says that in all honesty, XInYar1 2T1 deserved to die right there
on the spot on "1'0 On. However, 1121 nwn interceded on their behalf, begged for o'nN1 & they continued to live,
DT?71' 17'82! Therefore it is nwn NIT72IN, from "1'0 YN... "T27T DIl



YT DA MY AWK NIYA 7D 'O NX INE'71-1a1 N'7ON Taa 1w19 anTth natn i
12"-N"' "T 72TNA -DNIX 1021 N'7ON Taa X Nl

"y on the words of NwN 73 725 NX tells us that the 7109 is referring to the NYILVN *22 which is the 07> that are used
to bring M1V on the NIVpPN Nartn. If we analyze the D'109, we notice that the 073 for the 2anTn Nam, got covered by itself
and the actual nam also got covered by itself. Yet earlier in the D'j7109 we notice that the N1 72 got covered together with the
NN & the IN71WN "7 got covered together with the |N71W (See '0 7109). What's the p17'n between the |n71W1 N1 "7 & the
nlivpn *2? Why are the naiopn 73 different?

The .0™ D'NAT M2 says NN NIVP [N1'OPA IPYIY NATA 20 AR 772 20 MmN, The 2"n 2" "T'An '7n 0"ann Paskens
this n27n7! If the 190 Natn is removed from its place, one should put the M1V with a nnnNn in its appropriate place like the
2172 10D would do on ™01 So we see that the natnn "D have nia'wn just like the narn itself! Therefore they got their own
covering just like the natn. But the n11an & the |N71W, their 07D are 790 to them, as we never find that they can be used without
the n1nni |n71v, therefore they were covered together!

The :7"0 |NTN10 'Ma tells us that all the 07 in the N2, the nn'wn that 11'21 nwn made on them was wTpn the n*7.
After that time, any 0"72 added to the wTpnn N'a became WITR as soon as they began to do nTIAy with them! This is learned
from our 7109 of UTpa DA IMW' AWK which teaches us that they become WTIj? when you do nTIay with them. This {7109 is by the
nIoupn "7 but the question is why didn’t the NN tell us this earlier by the NI [n71wn "75? The answer is that if the N told
us this wiTn earlier, | would think that only those 0'7> which are 790 to the n1nI |N71W & are not so A1WN become WTI? by using
it for nTIAY. But by antn narn 73 which are 21wn just like the 2nTn nam itself as they can be N1V 2 even if there is no
naTn, maybe they would need nn'wn & nTIAy wouldn’t suffice? 7"nj the 7109 here by NIVZn Nam 75 that MuTPNn INTIAY &
NN'wn is not necessary. NN7Y Nyw

/R 72TN2 MNWY1A 12P) TVR.LINRY VD NN

1”97 tells us NINWA |82 17 —12p1 "WN. What is bothering '"'w1? The 0'nan MAaT has a remarkable bwa. "w1 was
bothered by the difference in the niw? of the p1oa. When it talks about the nTy, it says 17'npn, which seems to indicate
that they were summoned by the blowing of the ninxixn, the trumpets. Yet when the pioa talks about the ninwy, it
uses a |Iw? of Np'l, which seems to imply that they were gathered by calling their names. But if one looks in nw1a
INI7una where it lays down the rules of blowing the ninxixn, it says that if the ninxixn were blown only once, then that
was a calling for the D'~'wa to gather. So we see that the n'~'wa were also gathered by trumpets, so why didn’t they
use them here??

That is what "wn is telling us NiINnw2a N2 17, that here they were called with their names. Until now no one knew
who were the D'8'w3, but now that Hashem told nwn their names, now it was public knowledge who they were, & now
the D'N'wa themselves knew that they were the D'x'w & had the responsibility of a X'wa, & if they would hear just one
sound of the trumpet, they would all gather. Therefore, only this time were they not called by the trumpets as no one

would know who should come!
279 'R 92701.......29N9) 2

When the 170 counts all the 002w, it says ...2129 ,...329, yet by 'Y1n91 VWY, it just says *9N91 212. Why?? The D79
ma’ says that the first official counting was by the giving the D'9pw for the 1own. There Y81v’ Y95 was counted as a
whole, & not by Dvaw. Now, a half a year later, the count was exactly the same! So they knew that the total was
603,550. As they added up the first 11 Dvaw, they had a running total of 550,150. So they knew that *Yna3 vaw was
53,400 without actually counting their o’5pw!! Therefore it says '51n91 »32 and not *ona) 21b.

However, this is not so simple. The first counting, in »1p5 nwI9, included "% Vaw. Now, in the second counting,
it excludes "9 Vaw. So actually YR’ 555 did grow in this half a year, as the wy1pn 0NN 7N says that how could it be
that no one turned 20 during this half a year? nwn 17 Shternbuch 8"0’5w says that this is to teach us that even when it
looks that YRw 553 is missing out the numbers of its army due to “1% VaV“ not being part, but Hashem replenished
it’s numbers to the exact amount as before! So actually, Y8 553 did grow although not 22,000. (20+ years old was
much less than 22,000, as that number is 30 days & older). If so, then they were not able to “figure out *5na1 VawY’s
numbers by using math!! The DN "Maw says VYA in » W7 in *IPa ’9, that although "% VAW was counted the first time,
they did not give D'9pw!!

R" 'R 727TN1....... nny 27pn Tm
The .N"? Naw 'na tells us the story of the 1a who wanted to become a1 in order to become the 217a |n2. He came
to 770, who told him that just like a person that wants to be a king would first have to learn the “constitution”, so too
you must first study the nImn. He began learning and when he reached our p1oa of nni* 23pn 1T, he asked 770, to whom



is the nIn referring? 920 answered it’s referring to even 2w m TT!! What is 970 saying here, and why is he being
v especially 28w 1o 1iT?

In Xwn 11 nw19, we learn about the O™ of having nNan from the nnwnn [nw, the p1oa says there 1N N YWWNI
AT %V, a T is WON to be hwin with the nnwnn Nw, however the :'I NINMA 'Na says this MO does not include a M as he
is not a 1T! So | might think that a 171 may carry the jawnn 121 as he is not part of “nni* 2apn AtAI”, says 220, no! This At
includes even a 2x e 1!

The message he was sending the " by singling out Ymn TIT was, even though n"apn%? nMa 'a'an and TIT himself
came from DMa as his grandmother was n'aNinn NN, and also, he was a 1M, and still he was included in nnI* 210 ITAI,
so don’t expect to have your wishes fulfilled, to become a 217a [na! See 1"D 'R DA MAT.... [INN DR NINYY R? TIT X N
'TIN1 D12 0"I70 DN ' D'PIRN!

'R 'R 927R2.....990 27R2 TN BR 7 92T

The 1727 w177 brings on this P109 a X121 said by 71°17° in which he was chastising %2> %92 for not learning. He said,
'7 927 %7 anX 1173! The question is what does this have to do with the opening of 71272 750?

The .1"0 0°105 '3 brings a o0 of the X7 N2 12 if N0 12772 is NAW M7 or not. The oW1 ask, why don’t we learn this
7991 out from 9277 nod which was on naw & they were naw nn7» for the noo 129p? The W 7R wants to answer that '01n
"% PWTR says, that whenever it says the word 71X°2 — coming, it comes to tell you that this is only for after you arrive in
SR 7R & have 72°w" 7w1.So 1277 10D was 112°77 %9 9V, so therefore we can’t learn from a 7vw XML

However, 'R "0 2"wA brings a ™90, that really the 7w» of 1w nod came before the beginning 7w"5 of 712712 but in
order not to embarrass 28 W° 595 for making only one 109 1277 in the 1277, the 770 placed that 7w deep into noyna.
So we see that the "190 held that they were 195 1292 271 in the 7271, & it’s not a YW NRM7A, so it’s shver once again?

Zugt 7°8n "1 Shapiro 2"x1, vwo in the Poo of X°nN2 °12 if MOD is N2w IM7, by every 1277 we have a o0 maybe the
animal is a 79°70, so maybe the 175 is being naw %nn without doing the 7712v? And even though we know there is a 210
that would determine that it isn’t a 719°70, but the nX2pn 7YY in :'t "2 says, that 217 doesn’t make it a °XT1, but rather the
770 was 7°nn this poo! If we could say that the 1272 noo was °RTY not a 79, so then we wouldn’t be able to learn N 75
that naw nm7 nod as MM7? wouldn’t be a °X71 but rather a 217 1o 207! Indeed the 1owni NaRYAT X172 as brought in 'o1n
:2"D> N2 says, that the 713977 7Y in the 7277 would give forth a special light, that one could see inside of a barrel with x-
ray vision! So, so too they were able to check a 72 while still alive & see if it was a 71970 or not! Since they Shechted
only sheep that were °X71 not a 719>, therefore it was naw 7m7 but we can’t learn out mM7>!

Now we can understand why the w177 brings that P109 from 1°27° on our P105! As W17 777 ° %Y one can read it,
T9ERA YIR OR ORIWYY 7 12700 7 127 XY opR 1373 that it’s coming to answer this question of why don’t we learn from
here that it’s naw 7m7? And the y17°n is, this P109. When X %95 was in the 1271, was it enveloped in darkness? Of
course not, as they were even able to see into closed barrels with x-ray vision! Therefore, they were naw 7m7, but one
cannot learn out mM7% from here!

7' 'R 927%2...202K8 N°2% annown Y 17900

*"w tells us that the Yidden brought their 7°92 01°, documents attesting to their lineage
establishing their genealogy, exactly which vaw they descended from. The 7"97n "1Wwnw 0P says AYwa
IN27T ;0777 AR 27°0 7" ON0 .NINIRGT 1A N 27PNA7 R 77,002 22T NIAIR IRIPNI 77N DR IR 192w
2% amndwn HY 170N NRIY LPR0AN C1aw awd "oy mindwn ' 123" (V'8 2°%nn) 1w 005w PonY 190 9
"onmaR. After 7"2p: said this, the o> were quiet! They had no 7772 01 & X1 they lost their rights to
demand the 77n. However, we must understand the m2>»w between 1011 0w & 7107 nPap? Why is it
a prerequisite to determine if the nation is worthy of 771077 n92p?

| heard from %"XT PR3 o8 wn M, 3 220901 as to why this is necessary. The 15t 7271 is
something he mentioned in almost every w27 he gave, 21077 127171 When a person knows who his
parents are, he shows that he has this 77 of 21077 D737 as he feels it’s important to acknowledge his
parents who brought him to this world & brought him up! The 71’1177 '0 says that the 71277 in the m¥n of
ORI 2R 712°2 is 21077 11277 We must have this 7777 in order to be 11237 to 77077 n?2p as one must use this 77n
towards 11"2p17 who does only good for us!
In the NM11277 YWy we find 2 MMY, the first one discusses o1pn? 27X P2 N while the 2" is all about P2
17°anh 07X, However, oX) 2R 712°2 is on the 1%t tablet. Is this an exception to the class of opnY o8 Pa?



Shouldn’t it be on the 2" tablet? The y171°n is, being 7207 parents is really an extension of being 7251
17""2p1, as the a3 says 0782 DoMW "WIPw, the parents providing the m1a while 1"apn inserts the mnwa! Since
it’s a mamw, if one doesn’t have proper 2077 N7271 for his parents, he is also betraying 1"2p1! Hence, it’s
listed among 01pn? 07X 12 N11¥! We need this 772 to get the 7n!

The 2" 9971 is 720! The .a™ 7wa 'ma says that if one is 22pn a MW 03 for an 72v without him knowing,
the 72V is not free! Even though 17192 X5Ww 07X 17, going free is not considered a n21! Why? The Xnax
answers that he is no longer 70 to a ImdW! The 7121 W7 in XIRY 'D is 7°207 that an 72¥ has no dignity as
he has no father, no 017> & therefore acts as a 7Xn %¥2 & is not embarrassed to act in a 71°12 717 since he
has no motivation to live up to the status of a family man! He therefore acts as an 72¥ who has no family
to emulate like a proud person does! When "7 informed 1wn about us getting the 770, "7 said 110 ank)
0°1772 N2%nn o9, we are a kingdom of high-level officers! We have pride in ourselves! We have 011! When
the 01 couldn’t bring any documents backing them up, they realize they can’t get the 770!

The 3 99%n is naxk m>ar! Their 01° wasn’t a personal lineage but a collective document tracing
themselves to the D17pn MaR & 73-° "vaw! The "'y PWITP 'MA says that one needed 017 in order to enter
Tonn T17’s army! 717 won mann, not through nyawa mma but rather through °mar of Mg 770 & MoT
naR! The fact that the Yidden were 71231 to 771077 n%2p was a privilege & it came with an nvanR. We are
Bentched with "7 n272 for keeping the 770 but we also are in the hot seat if we fail to live up to his
expectations. What’s our protection? maxk m21! We, who have a 017 70w, can get the 770 because of
our Max NMd7 but the 01 who lack 01, are not worthy of receiving the 770!

1'% '3 M2TRR.PPWE 173 DY PR WIPT Ypwa npdva? oohpw nuinn nwinn nnpy)

The :2"np 2"2 'ma says, if a person says | want to give a 7110 to a number of people but he singles out one of those
people, we have a %95 that that person gets half of the entire ninn & the other half is split among all the other people.
For instance, he says that my money should be given to my wife & children, then if he has five children, each one would
get 10% and his wife would get the other 50%. This is because we say that she was singled out because he wants her to
get half! The X7n3x proves this from a Xn>12 that says by the 0°1977 an®, 121291 177K% An°m which could mean that he should
get 20% as there were five 021770 at that juncture. But since the 105 singled out 177X, we therefore say that 177X gets 50%
& his sons share the other 50%.

Yet annw °Rn " brings a beautiful 199 from our 109 to this 975! He addresses a question which we hardly think
about! The 770 in numerous places mentions a 7pw. Sometimes it says that the 2pw is 9pwn 773 0wy, What is the rule
of thumb, when is 5pwi 773 WY mentioned & when is it not? Zugt annw 7°8n ", the 970 is, whenever the %pw is divided,
we need to know how much silver the 9pw is comprised of. But if we are only dealing with full 2°%pw, then there is no
need to know how many 771 to the 5pw! For example, in Xwn °2 's where the 770 discusses giving a %pwi noxnn, there the
770 adds that the 9pw is 7173 0™ wy! There is a need to know how much half a pw is! If a full 9pw is 20 773, then one must
donate 10 773! While in >npria 's, by the 1°37v, the 770 does not tell us that a 9pw is 20 7173 since by 127y, all the amounts
are in full 2%2pw! Therefore, it's irrelevant to discuss how many 773 are in a 7pw!

In our w19, the 77N tells us that the 2M%7 nw7P were 112277 NN, but there were extra o122 that didn’t have a
17719 with a a7°nnn "%, There were 273 of them. They had to be 11751 with 2°%pw, as it says in our P10, NYnD NWHD DOP?)
npR WP Dpwa nhava? 0°opw, and the 7n adds, 2pwa 073 o wy! Why? If each person gave an exact amount of 5 2*%pw,
why the need to say that the 22pw were made of 20 773? The answer lies in the next P105. What happened to these
*opw? 072 09797 178 13273 19987 1027 701! The total amount of 2°%pw came to 1365 o°7pw. If we divide it by 3, it comes
to 455. 1778, TY9R & X would each get 455 o°9pw. No 2pw would need to be broken up. If so, o this 975, why is the
770 telling us 9pwi 773 0°Wy? But now that we know that this p109 is w171 the same as by 0°1977 an®, that 171291 177K
means 177X will get half & his sons will split the other half! This means we now have to divide 1365 into 4! Which means
the sons will get 341.25 o°9pw each. And 1178 will get half which is 682.5 0°7pw. Now we indeed need to know that o wy
opwi 7l



